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Detrended(Yt)=at+b*Detrended(Nt)+c*Detrended(Ht)+d*Detrended(Yt-1)+Ut

100.0 1.6 1.6 16.0) 5.4 2.5 18.1 10.2) 13.1 6.7 25.0
100.0) 2.4 0.6 18_1] 6.9 0.9 271 5.7 1.5 5.9 33.5
a 0.00 20.00 20.00 20.00 0.00 0.00 0.00 0.00 0.00 20.00 0.00
t 1.11 -0.15 -0.32 -0.37 0.25 0.86 0.32 0.24 0.35 -0.36 0.38
b 0.70 ~1.50 1.58 0.74 1.12 0.38 0.50 1.00 0.21 0.15 0.52
t 4.25 -3.89 5.79 5.34 | 11.86 1.33 3.71 5.10 4.29 0.92 3.84
c 0.98 1.14 1.80 1.17 -0.54 0.25 3.73 3.61 0.08 1.17 0.30
t 1.52 0.81 1.59 3.71 -0.87 0.30 4.62 3.36 0.23 3.75 0.46
d 0.17 0.04 0.41 0.39 0.44 0.53
t 1.08 0.52 3.98 2.95 5.40 5.71
Adjusted R 0.76 0.07 0.59 0.69 0.95 0.30 0.67 0.58 0.55 0.01 0.66
0.001 0.088 | 0.109 0.006 0.004 0.008 [ 0.003 0.011 0.003 [ 0.007 0.002
1.62 0.25 0.63 1.83 0.46 0.41 0.51 1.13 1.66 1.60 2.05 0.69 3.11
1.77 0.47 0.67 1.08 0.14 0.60 0.70 1.52 2.08 1.64 1.87 0.82 5.62
a 0.00 0.00 0.00 20.00 0.00 ~0.00 20.00 0.00 0.00 0.00 0.00 20.00 0.00
t -0.12 0.02 0.01 -0.07 0.17 -0.06 -0.02 -0.18 -0.18 0.21 0.19 -0.06 -0.18
b 0.21 0.57 3.00 0.93 0.23 1.64 1.90 1.03 1.15 0.76 0.35 1.10 0.61
t -0.55 4.16 6.37 4.45 -0.31 7.40 15.39 11.03 9.52 10.94 -2.18 16.17 4.42
c -0.54 1.56 -3.67 4.71 2.07 2.85 1.35 1.75 -0.16 3.06 1.43 —2.17 2.03
t -1.39 2.93 -4.60 6.29 1.24 4.80 2.98 5.60 -0.47 7.97 2.71 -3.67 3.96
d -0.01 0.57 0.27
t -0.15 5.50 2.58
Adjusted R 0.06 0.55 0.42 0.26 0.08 0.64 0.81 0.86 0.56 0.78 0.56 0.77 0.72
SSR 0.019 0.013 | 0.022 0.028 0.225 0.037 0.038 0.006 0.034 [ 0.019 0.044 | 0.044 0.004
D(Yt)=a+b*D(Nt)+c*D(HE)+d*D(Yt-1)+Ut
100.0 1.6 1.6 16.0) 5.4 2.5 18.1 10.2) 13.1 6.7 25.0
100.0) 2.4 0.6 18_1] 6.9 0.9 271 5.7 1.5 5.9 33.5
a 0.03 0.06 0.06 0.05 0.04 0.05 0.05 0.08 0.03 0.06 0.03
t 3.13 2.90 2.62 10.09 10.61 7.73 9.72 7.77 3.30 10.56 2.53
b 0.71 —2.04 1.45 0.97 1.09 1.83 0.81 0.87 0.22 0.28 0.59
t 3.43 -4.16 4.79 6.12 16.66 4.84 4.72 2.67 3.86 1.86 3.47
c 1.66 2.95 2.77 0.73 -0.66 -0.46 2.41 3.96 0.45 0.91 -0.14
t 2.03 1.76 1.91 2.33 -1.47 -0.43 2.98 2.71 1.00 2.94 -0.18
d 0.32 0.53 0.42
t 1.88 5.24 3.62
Adjusted R 0.71 0.16 0.58 0.63 0.88 0.47 0.47 0.17 0.39 ~0.06 0.51
SSR 0.002 0.174 | 0.184 | o0.011 0.006 0.021 0.006 0.027 0.004 [ 0.010 | 0.004
1.62 0.25 0.63 1.83 0.46 0.41 0.51 1.13 1.66 1.60 2.05 0.69 3.11
1.77 0.47 0.67 1.08 0.14 0.60 0.70 1.52 2.08 1.64 1.87 0.82 5.62
a 0.04 0.03 0.06 0.07 0.06 0.04 0.06 0.04 0.04 0.06 0.06 0.05 0.05
t 4.79 2.83 6.01 7.52 1.96 3.62 3.94 8.47 3.75 6.41 4.14 3.63 10.46
b -0.44 0.34 3.02 1.17 1.11 1.57 2.03 1.06 1.32 0.76 ~0.01 1.15 0.74
t -0.63 1.74 6.60 3.97 1.40 5.67 11.22 11.12 8.11 7.33 -0.03 9.82 5.43
C 0.56 2.08 -3.67 4.13 1.43 2.58 0.83 1.33 0.03 2.78 1.42 ~1.48 1.70
t -1.09 3.51 -5.82 4.69 0.97 3.10 1.30 4.13 0.08 6.39 2.37 -1.75 3.62
d
t
Adjusted R 0.08 0.52 0.42 0.33 0.08 0.53 0.71 0.77 0.50 0.69 0.09 0.69 0.67
0.037 0.025 | 0.039 0.034 0.280 0.056 | 0.080 0.011 0.064 [ 0.032 0.085 0.070 0.009
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at+b0*Detrended(Nt)+cO*Detrended(Ht)+b1*Detrended (Nt)*dummy90+c1*Detrended(Ht)*dummy90+d*Detrended(Yt-1)+Ut
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Detrended(Yt)=at+b*Detrended(Nt)+c*Detrended(Ht)+d*Detrended(Yt-1)+Ut

| |
GDP 100.0 1.8 0.2 26.6 7‘8_| 3.5 16.4 79 37| 87 234
100.0 6.3] 0.1 20.3 11.8 0.7 17.5 3.1 16 7.0] 316
a -0.00 0.00 0.00 0.00 -0.00 -0.00 0.00 -0.00 0.00 -0.00 0.00
t -0.75 0.10 0.08 0.07 -0.33 -0.04 0.38 -0.64 0.03 -0.54 0.06
b 1.08 -0.38 -1.83 1.58 0.16 -0.40 1.24 0.27 -0.59 0.35 0.24
t 2.16 -0.90 -1.82 8.90 0.62 -1.35 2.83 0.56 -2.67 1.31 0.87
c 1.25 1.58 -4.20 1.56 1.16 -0.61 -0.35 1.15 -0.06 0.38 0.24
t 4.15 6.56 -3.99 5.93 1.99 -1.44 -0.93 2.14 -0.18 1.11 0.90
d 0.70 0.90 0.83 0.61 0.66 0.34
t 4.24 8.58 8.64 5 e 5.41 2.08
Adjusted R’ 0.56 0.46 0.22 0.69 0.67 0.00 0.75 0.55 0.51 0.07 -0.04
0.007 0.011 0.113 0.008 0.025 0.012 0.009 0.027 0.010 0.006 0.005
GDP 2.59 0.20 0.67 2.33 1.39 0.83 1.59 1.12 2.03 6.82 3.01 0.34 3.63
2.62 0.52 0.52 0.72 0.06 0.77 0.79 1.75 2.36 3.14 1.93 0.37 4.72
a -0.00 0.00 0.00 0.01 -0.00 -0.00 0.00 -0.00 -0.00 -0.00 0.00 0.00 -0.00
t -0.11 0.21 0.03 0.86 -0.09 -0.01 0.05 -0.09 -0.16 -0.03 0.37 0.03 -0.12
b -0.47 -0.56 0.50 -0.10 0.59 0.42 0.70 0.57 2.08 0.87 -0.22 1.35 1.36
t -2.29 -1.64 1.78 -0.46 3.00 3.35 2.16 3.34 9.71 2.66 -0.81 9.86 10.08
c -1.46 -3.93 1.05 0.19 -1.19 0.90 2.72 0.06 0.63 1.45 1.35 1.87 1.56
t -4.13 -4.09 1.88 0.22 -2.13 2.74 5.94 0.17 1.76 1.90 3.53 5.12 5.91
d 0.26 0.38 0.48
t 207 & 4.40
Adjusted R’ 0.17 0.12 0.11 0.16 0.12 0.15 0.43 0.19 0.72 0.06 0.32 0.76 0.72
SSR 0.016 0.229 0.031 0.024 0.046 0.021 0.058 0.024 0.037 0.132 0.049 0.026 0.006
10
Detrended(Yt)=at+b*Detrended(Nt)+c*Detrended(Ht)+d*Detrended(Yt-1)+Ut
GDP 100.0 1.8 0.2 26.6 7‘8_| 3.5 16.4 79 37| 87 234
100.0 6.3] 0.1 20.3 11.8 0.7 17.5 3.1 16 7.0] 316
a -0.00 0.00 0.00 -0.00 0.00 -0.00 0.00 -0.00 -0.00 -0.00 0.00
t -0.11 0.04 0.10 -0.24 0.56 -0.23 0.01 -0.44 -0.14 -0.08 0.12
b 0.15 0.00 0.05 0.33 0.19 -0.00 -0.49 -0.23 0.00 0.01 0.03
t 0.61 0.02 1.29 1.80 0.88 -0.00 -1.64 -1.65 0.04 0.13 0.30
c 0.20 0.46 0.60 0.97 -0.75 0.08 0.06 0.08 -0.00 0.20 0.15
t 1.41 4.22 1.89 4.83 -1.80 0.51 0.24 0.54 -0.02 1.14 1.02
d 0.71 0.71 0.75 0.60 0.83 0.64 0.61 0.80 0.73 0.58 0.52
t 8.17 12.01 11.86 8.23 19.24 10.32 7.36 15.24 10.93 7.64 6.56
Adjusted R 0.56 0.64 0.59 0.74 0.80 0.48 0.30 0.72 0.54 0.35 0.26
SSR 0.007 0.018 0.114 0.023 0.090 0.022 0.037 0.025 0.017 0.014 0.012
GDP 2.59 0.20 0.67 2.33 1.39 0.83 1.59 1.12 2.03 6.82 3.01 0.34 3.63
2.62 0.52 0.52 0.72 0.06 0.77 0.79 1.75 2.36 3.14 1.93 0.37 4.72
a ~0.00 0.00 0.00 ~0.00 0.00 ~0.00 ~0.00 ~0.00 0.00 ~0.00 ~0.00 ~0.00 ~0.00
t -0.30 0.02 0.42 -0.08 0.26 -0.20 -0.54 -0.14 0.23 -0.35 -0.06 -0.03 -0.11
b 0.22 0.08 0.17 -0.02 0.01 0.15 0.03 0.09 0.63 0.56 -0.06 0.33 0.25
t 0.96 0.47 1.67 -0.19 0.08 2.96 0.19 0.59 3.97 2.52 -0.29 2.27 1.64
c -0.52 -1.00 0.13 -0.05 -0.16 0.38 1.43 0.57 1.30 1.57 0.65 1.33 0.57
t -1.62 -2.64 0.87 -0.12 -0.70 3.23 5.98 3.12 7.90 4.38 2.38 6.59 2.79
d 0.31 0.78 0.86 0.55 0.77 0.75 0.61 0.56 0.59 0.62 0.42 0.67 0.70
t 3.99 18.82 23.42 7.78 13.52 20.48 11.97 8.99 10.77 11.28 5.50 10.60 10.54
Adjusted R’ 0.10 0.71 0.83 0.25 0.65 0.76 0.80 0.40 0.87 0.60 0.30 0.82 0.64
0.071 0.219 0.016 0.095 0.056 0.019 0.065 0.069 0.055 0.233 0.183 0.051 0.019
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D(Yt)=a+b*D(NRE)+C*D(NPE)+d*D(HRE) +e*D(HPE) +F*D(YE-1)+Ut
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1995 92.86 5.89 1.25 63.74 14.93 10.96 5.89 4.48
1996 92.36 6.46 118 64.07 1531 10.30 6.16 5.56
1997 92.01 6.61 1.37 64.27 15.49 10.00 6.08 4.48
1998 91.79 6.99 122 63.69 15.09 11.13 5.88 419
1999 91.89 7.25 0.85 64.73 14.89 10.68 6.02 3.91
2000 91.36 7.61 1.02 65.43 14.84 10.22 6.17 3.02
2001 91.13 7.80 1.07 66.31 15.32 951 6.37 2.80
2002 91.04 7.83 1.13 66.08 15.13 9.42 6.74 3.07
1995 90.13 8.04 1.83 12.30 62.10 13.45 1.78 10.37
1996 90.02 8.47 151 12.23 63.18 13.21 181 9.57
1997 89.84 9.00 116 13.15 63.24 13.19 1.89 8.52
1998 88.52 9.88 161 12.70 63.17 14.79 2.07 7.27
1999 88.45 9.67 1.88 12.78 64.99 13.60 214 6.48
2000 87.13 11.01 1.86 12.35 65.94 13.27 1.99 6.46
2001 86.92 11.35 173 12.17 69.25 12.15 219 424
2002 86.23 11.79 1.99 11.39 69.96 11.62 1.94 5.08
1995 60.28 30.47 9.25 177 82.74 7.52 0.08 7.90
1996 60.83 3471 4.45 1.65 83.22 7.50 0.10 7.53
1997 58.74 3593 533 140 83.01 7.53 0.09 7.97
1998 55.69 38.01 6.30 1.63 84.05 7.96 0.11 6.25
1999 5291 4157 5.52 1.69 86.60 6.69 0.10 492
2000 51.63 43.19 5.18 1.60 87.69 6.37 0.10 423
2001 48.35 46.69 497 1.63 89.29 5.84 0.11 3.13
2002 47.87 48.23 3.90 1.52 90.35 5.55 0.09 2.50
1995 85.13 1115 3.72 11.87 23.76 16.39 2.56 4541
1996 79.95 16.45 3.60 10.58 28.73 16.30 222 42.16
1997 81.01 16.66 2.32 12.44 29.80 15.01 2.19 40.56
1998 79.26 18.74 2.00 14.31 31.71 14.14 1.80 38.03
1999 80.23 18.33 143 12.52 31.40 12.33 145 4231
2000 75.03 19.61 5.36 11.82 31.87 11.10 174 4347
2001 84.64 12.60 2.76 3.18 65.29 9.12 0.75 21.66
2002 85.02 11.43 3.55 3.40 41.99 9.54 0.68 44.38
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D(trend(Yt))=a+b*D(trend(Nt))+c*D(trend(Ht))+Ut

100.0 1.6 1.6 16.0 5.4 2.5 18.1 10.2 13.1] 6.7 25.0)
100.0) 2.4 0.6 18.14 6.9 0.9 27.1] 5.7 1.5 5.9 33.5)
a 0.03 0.03 0.07 0.03 0.01 0.05 0.02 0.07 0.01 0.06 -0.07
t 2.35 47.12 205.46 95.24 4.01 68.73 18.40 285.34 9.77 102.69 =293
b 1.06 -0.19 2.16 -0.71 1.16 2.60 2.16 1.36 2.51 -0.27 4.15
t 1.71 -7.33 240.64 -13.97 52.01 105.99 36.03 135.76 48.77 -12.40 61.90
c -8.64 1.38 -2.50 4.62 14.37 -0.38 2.05 0.70 -3.83 -1.07 -4.24
t -8.95 8.97 -39.10 59.81 24.53 -1.99 8.99 7.91 -10.17 -16.40 -10.22
Adjusted R 0.00 0.72 1.00 0.98 0.83 0.98 0.95 0.99 0.86 0.64 0.93
SSR 92.673 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1.62 0.25 0.63 1.83 0.46 0.41 0.51 1.13 1.66 1.60 2.05 0.69 3.11
1.77 0.47 0.67 1.08 0.14 0.60 0.70 1.52 2.08 1.64 1.87 0.82 5.62
a 0.08 0.02 0.02 0.06 0.02 0.04 0.02 0.04 0.04 0.05 0.05 0.05 0.05
t 106.04 76.40 33.01 127.95 8.48 102.24 10.61 125.17 118.63 303.66 32.43 105.03 51.56
b -4.92 0.55 -5.09 -0.25 -1.16 0.59 1.02 0.47 0.35 0.47 2.18 1.15 4.43
t =175 65.54 -68.37 -20.17 -29.95 T30 42.55 64.10 70.84 93.38 87.67 255.75 80.95
c -9.89 6.25 13.63 7.63 3.90 4.01 4.71 2.73 0.30 5.57 1.84 -3.90 -5.05
t -88.57 140.75 99.63 159.28 21.85 98.46 19.98 63.26 9.61 220.94 22.12 -38.92 -17.33
Adjusted R* 0.93 1.00 0.99 0.98 -0.03 0.84 0.65 0.61 0.71 1.00 0.81 0.99 0.90
SSR 0.000 0.000, 0.000 0.000 0.001 0.000, 0.002 0.000 0.000 0.000, 0.001 0.000 0.000
21
D(trend(Yt))=a+b0*D(trend(Nt))+c0*D(trend(Ht))+b1*D(trend(Nt))*dummy90+c1*D(trend(Ht))*dummy90+d*D(trend(Yt-1))+Ut
100.0 1.6 1.6 16.0 5.4 2.5 18.1 10.2 13.1] 6.7 25.0)
100.0, 2.4 0.6 18.1 6.9 0.9 27.1] 5.7 1.5 5.9 33.5]
a 0.05 0.04 0.08 0.03 0.02 0.04 0.02 0.07 0.05 0.06 0.08
t 4.87 36.44 72.20 63.19 6.45 52.54 9.15 210.51 18.38 46.14 9.33
b0 -3.44 0.15 2.23 0.11 1.05 3.46 1.33 1.28 1.93 -0.44 -1.69
t -3.43 2.41 105.64 0.61 4.20 61.90 6.15 112.65 16.91 =7.55 =5.51
c0 -43.26 -1.77 -2.66 5.65 9.85 -0.95 -4.86 3.88 13.05 -6.67 -69.73
t -4.92 -4.21 -20.81 20.74 4.29 -2.11 -3.28 26.93 15.53 -12.06 =2 o)
bl 3.80 -0.74 0.09 -0.37 0.11 -1.83 0.53 -0.32 -1.43 0.48 1.54
t 4.12 -19.78 3.26 -1.90 0.45 -15.79 4.47 -16.06 -19.78 10.47 10.34
cl 40.46 1.91 0.81 -1.82 -5.66 5.03 5.41 -3.03 -15.54 6.38 59.57
t 4.57 7.89 3.15 -5.83 -2.89 12.56 3.95 -23.56 -16.57 9.71 12.09
Adjusted R: 0.34 0.97 1.00 0.99 0.96 1.00 0.95 1.00 0.98 0.92 0.99
SSR 0.004 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1.62 0.25 0.63 1.83 0.46 0.41 0.51 1.13 1.66 1.60 2.05 0.69 3.11
1.77 0.47 0.67 1.08 0.14 0.60 0.70 1.52 2.08 1.64 1.87 0.82 5.62
a 0.06 0.03 0.02 0.06 0.02 0.03 0.01 0.04 0.04 0.05 0.04 0.05 0.02
t 55.75 20.88 18.30 247.76 3.34 125.99 3.94 336.12 157.97 210.95 22.64 145.00 16.13
b0 -1.44 0.30 -3.09 0.14 -4.66 0.35 -1.48 0.19 1.06 0.49 2.65 1.18 -0.33
t -12.78 4.79 -15.19 3.91 -6.91 9.00 -5.66 9.02 23.83 36.68 15.24 95.77 -1.31
c0 -1.37 4.81 12.52 8.43 36.19 3.62 -21.39 2.60 2.35 5.59 3.96 -4.50 18.74
t -4.12 14.43 41.52 54.92 8.14 22.60 =7.29 30.17 18.27 69.12 6.59 -11.24 22818
bl 2.55 0.34 -0.97 1.09 2.71 0.24 1.70 0.62 -0.59 -0.02 -3.55 0.28 -3.48
t 10.86 5.18 -2.68 11.61 6.89 5.44 6.23 30.38 -12.65 -0.84 -18.93 13.73 -12.47
cl -5.88 1.04 -1.24 -2.60 -18.80 4.23 27.59 0.33 -2.07 0.07 -6.75 4.77 -2.90
t -25.57 4.00 -3.39 -16.35 -4.64 15.31 8.91 3.48 -14.79 0.62 -8.31 9.63 -4.59
Adjusted R 0.99 1.00 1.00 1.00 0.54 0.97 0.70 0.97 0.90 1.00 0.87 1.00 0.98
0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.001 0.000 0.000
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D(trend(Yt))=a+b*D(trend(Nt))+c*D(trend(Ht))+Ut

|
GDP 100.0 18] 0.2 26.6 7‘§| 35 16.4 7.9 37 8.7 234
100.0 6.3 0.1 20.3 11.8 0.7 175 3.1 16| 7.0 316
a 0.02 -0.16 -0.04 0.03 0.03 0.02 -0.02 0.06 0.01 0.02 0.01
t 17.51 E82829 -2.88 138.04 30.63 69.19 -1.81 50.53 25.33 35.93 13.29
b 2.85 -6.62 0.16 1.08 3.09 0.36 9.29 2.52 0.72 3.12 0.84
t 39.86 -37.00 0.49 132.65 1258 17.00 12.87 52.42 59.08 58.08 35.75
c 1.10 4.78 -2.62 0.36 9.24 -0.22 0.33 1.22 1.74 2.35 0.68
t 10.92 63.30 -6.17 12.84 52.65 -4.63 0.48 9.50 38.83 53.88 28.91
Adjusted R’ 0.00 0.99 0.62 1.00 0.98 0.77 0.53 0.97 0.98 0.97 0.97
SSR 472.579 0.000 0.001 0.000 0.000 0.000 0.003 0.000 0.000 0.000 0.000
GDP. 2.6 0.2 0.7 2.3 14 08 16 11 20 .8 3.0 0.3 3.6
2.6 05 0.5 0.7 0.1 0.8 0.8 17 24 .1 19 04 4.7
a -0.01 0.19 0.03 0.15 -0.04 0.06 0.04 0.03 0.01 0.10 0.05 0.07 0.02
t -18.04 78.92 92.92 65.88 -23.00 200.53 42.99 29.46 49.71 93.94 73.00 116.23 112.73
b 0.29 3.71 1.37 8.19 -0.66 2.18 1.55 2.48 2.66 1.42 1.73 2.67 1.15
t 31.68 92.98 117.57 75.56 -12.01 145.59 57.62 196.43 294.46 118.00 77.03 252.89 431.77
c -0.77 -0.57 2.30 18.26 -9.75 2.33 1.06 1.69 -0.29 -2.30 3.18 1.55 1.52
t -22.16 -4.57 64.37 62.01 -49.94 82.33 28.56 20.77 -8.68 =23.77 57.83 26.80 105.49
Adjusted R 0.76 0.99 1.00 0.95 0.90 1.00 0.94 0.98 1.00 0.99 0.97 0.99 1.00
SSR 0.000 0.000 0.000 0.002 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000 0.000
23

D(trend(Yt))=a+b*D(trend(Nt))+c*D(trend(Ht))+Ut

GDP. 100.0 18] 0.2 26.6 7.8] 35 16.4 7.9 3.7 87 234
100.0 6.3 0.1 20.3 11.8 0.7 175 3.1 1.6] 7.0 1.6]
a 0.01 -0.01 -0.03 0.01 0.00 0.01 -0.00 0.01 0.00 0.01 0.00
t 20.80 -11.66 -28.48 47.95 3.44 37.10 -3.47 20.95 11.43 28.49 5.89
b 2.49 -1.89 -2.18 0.93 1.72 0.05 2.24 1.44 0.43 2.03 0.93
t 23.60 =15.29 -24.17 36.77 17.99 1.75 19.87 24.69 21.02 41.77 25.86
c 0.97 2.79 -4.83 0.54 2.19 -0.53 -2.79 0.12 1.16 1.51 0.73
t 8.84 47.34 -31.71 9.35 4.79 -6.77 -12.50 1.04 23.73 22.88 15.54
Adjusted R 0.00 0.75 0.58 0.88 0.30 0.24 0.39 0.48 0.57 0.66 0.67
SSR 472.579 0.001 0.003 0.000 0.006 0.000 0.003 0.003 0.001 0.000 0.000
GDP 26 0.2 0.7 2.3 14 0.8 16 11 20 6.8 3.0 0.3 36
2.6 05 0.5 0.7 01 08 0.8 17 24 31 19 04 4.7
a -0.00 0.03 0.01 0.03 0.00 0.01 0.01 0.01 0.00 0.02 0.01 0.02 0.01
t -6.86 26.12 23.52 2078 a1l 63.09 12.46 12.13 15.24 31.54 24.50 53.28 44.12
b 0.05 2.27 1.43 4.38 0.30 1.85 1.27 2.11 2.65 1.19 1.34 2.30 1.15
t 4.12 63.12 118.06 53.43 12.56 91.74 63.20 94.11 108.72 103.58 36.42 266.75 245.85
c -1.15 -1.10 1.76 12.82 -1.28 2.31 1.58 1.23 0.00 -1.40 3.19 1.98 1.44
t -25.37 -9.90 44.29 58.78 -20.68 74.49 53.02 17.10 0.06 -18.55 66.68 58.29 83.42
Adjusted R’ 0.26 0.61 0.80 0.50 0.32 0.90 0.24 0.72 0.96 0.62 0.62 0.91 0.97
SSR 0.001 0.007 0.001 0.010 0.001 0.000 0.003 0.003 0.000 0.005 0.002 0.001 0.000
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D(trend(Yt))=a+b0*D(trend(Nt))+c0*D(trend(Ht))+b1*D(trend(Nt))*dummy90+c1*D(trend(Ht))*dummy90+Ut

GDP 100.0| 1.§I 0.2 26.6 7.8 3.5 16.4 7.9 3.7 8.7 23.4
100. 0| 6.3 0.1 20.3] 11.8] 0.7 17.5] 3.1] 1.6] 7.0 31.6]
a 0.03 -0.13 -0.39 0.04 0.03 0.03 -0.11 0.06 0.02 0.03 0.01
t 10.00 -26.91 -39.37 69.37 15.78 65.43 -10.64 7.38 17.02 57.27 14.57
b 1.42 -5.51 -8.51 0.66 3.63 -0.57 13.90 2.08 0.48 1.98 0.78
t 4.38 -30.44 -35.01 12.40 13.18 -11.97 10.04 5.68 11.66 27.59 29.13
c 0.26 4.17 -6.05 0.28 10.68 -1.05 -6.91 0.28 1.48 1.14 0.90
t 1.92 30.67 -22.11 3.96 10.51 =25.33 -9.24 0.56 10.26 13.17 20.49
d 1.82 0.42 2.16 0.49 -0.59 1.62 -11.14 0.44 0.45 1.59 -0.28
t 3.87 4.77 29.99 7.57 -2.18 18.49 -6.27 0.51 5.95 13.80 -12.34
e 1.99 -0.63 -14.51 0.53 -1.22 3.17 -2.43 2.15 1.54 2.91 -0.86
t 4.81 -2.78 -29.54 9.13 -1.55 20.86 -2.63 2.19 6.97 18.21 -12.37
Adjusted R* 0.00 0.99 0.98 1.00 0.98 0.99 0.87 0.99 0.99 0.99 0.99
SSR 130.816 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000
GDP 2.59 0.20 0.67 2.33 1.39 0.83 1.59 1.12 2.03 6.82 3.01 0.34 3.63
2.62 0.52 0.52 0.72 0.06 0.77 0.79 1.75 2.36 3.14 1.93 0.37 4.72
a -0.01 0.14 0.04 0.08 -0.01 0.05 0.04 0.02 0.01 0.11 0.06 0.05 0.03
t -13.82 11.38 82.22 24.09 -8.32 61.15 17.86 11.64 15.92 70.44 51.73 75.42 73.15
b 0.72 2.59 0.49 -22.85 0.14 1.50 1.55 4.27 2.83 1.13 -0.04 -2.56 0.59
t 10.66 8.34 9.80 -18.74 3.21 20.74 12.73 31.83 75.44 32.05 -0.29 -17.63 18.05
c 0.09 -1.10 1.76 -13.66 -4.52 1.88 -0.40 4.38 -0.44 -2.80 2.37 8.95 1.64
t 0.56 -2.40 14.89 -10.18 -11.42 19.68 -1.52 12.03 -4.98 -13.93 9.06 33.50 36.30
d -0.46 0.57 0.94 27.91 -0.57 0.59 -0.05 -2.10 -0.29 0.44 2.35 4.71 0.64
t -5.11 3.32 16.86 25.39 -16.56 10.29 -0.67 -12.28 -5.02 7.47 11.42 34.93 16.47
e -1.17 -1.70 1.37 18.90 0.31 -0.49 1.66 -4.45 -0.12 1.80 2.30 -8.58 0.43
t -6.80 -2.01 11.78 21.20 0.97 -4.75 6.24 -11.82 -1.29 9.33 8.16 -30.02 11.34
Adjusted R* 0.85 0.99 1.00 1.00 0.98 1.00 0.96 0.99 1.00 0.99 0.99 1.00 1.00
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
25
D(trend(Yt))=a+b0*D(trend(Nt))+c0*D(trend(Ht))+b1*D(trend(Nt))*dummy90+c1*D(trend(Ht))*dummy90+Ut
GDP 100.0] l.§| 0.2 26.6] 7.8 3.5 16.4 7.9 3.7 8.7 23.4
100. 0| 6.3 0.1 20.3] 11.8] 0.7 17.5] 3.1] 1.6 7.0 31.6]
a 0.01 -0.01 -0.04 0.01 -0.00 0.00 -0.01 0.02 0.00 0.00 0.01
t 11.03 -13.59 -19.27 34.29 -0.74 20.79 -7.24 23.13 4.05 13.40 19.63
b0 0.38 -1.48 -3.10 -0.11 1.99 0.72 0.77 0.40 0.67 3.87 0.43
t 0.93 -20.91 -14.74 -0.73 10.18 7.51 2.29 2.18 16.90 21.66 10.00
c0 -1.19 2.14 -5.16 -1.00 -5.39 -1.62 -7.52 -1.61 0.33 1.11 1.46
t -4.23 39.27 -10.79 -7.71 -4.48 -14.84 -20.84 -6.48 2.54 7.53 14.42
bl 3.15 0.94 1.34 1.46 -2.31 -1.30 1.97 2.36 -0.96 -3.43 -0.63
t 4.43 31.91 8.56 728 -7.14 E8838) 5.02 7.35 -17.05 =2 7 -15.85
cl 3.79 -0.74 -6.40 2.41 3.71 0.07 4.80 6.95 -0.10 -1.62 -1.68
t 6.16 -9.86 -9.39 14.15 2.96 0.27 15.34 18.95 -0.75 -5.18 -13.36
Adjusted R? 0.34 0.96 0.67 0.94 0.45 0.62 0.75 0.65 0.68 0.76 0.75
0.004 0.000 0.003 0.000 0.005 0.000 0.001 0.002 0.001 0.000 0.000
GDP 2.59 0.20 0.67 2.33 1.39 0.83 1.59 1.12 2.03 6.82 3.01 0.34 3.63
2.62 0.52 0.52 0.72 0.06 0.77 0.79 1.75 2.36 3.14 1.93 0.37 4.72
a 0.00 -0.03 0.01 0.02 0.00 0.01 0.02 0.01 0.00 0.05 0.02 0.01 0.01
t 16.11 -19.09 33.50 24.51 11.99 27.65 16.66 19.22 8.23 66.57 34.88 30.45 32.51
b0 -1.47 -3.46 0.21 -5.23 0.53 0.34 4.23 0.84 2.74 -0.94 -0.64 -1.90 0.74
t -19.92 -21.97 2.03 -10.74 9.80 3.29 21.17 8.68 26.56 -18.55 -4.89 -8.55 10.53
c0 -0.85 -2.32 -0.91 -4.26 5.49 0.27 10.75 2.35 -0.59 2.27 3.68 0.77 0.60
t -5.03 -8.94 -3.94 -2.51 9.91 1.02 15.21 7.17 -2.32 5.97 10.70 2.66 8.44
bl 4.33 3.22 1.42 9.42 -0.40 1.23 -1.87 2.08 -0.24 5.76 3.30 3.68 0.51
t 29.06 34.37 12.27 19.34 -8.91 14.03 -14.13 17.41 -1.67 [ON05) 17.43 18.42 5.87
cl 2.83 -7.90 4.42 13.15 -6.24 0.48 -7.35 -0.60 0.58 2.71 0.95 0.29 1.39
t 13.96 -20.70 16.77 7.96 -10.82 1.86 -10.14 -1.57 2.00 7.77 2.58 0.93 12.40
Adjusted R? 0.75 0.94 0.86 0.71 0.70 0.92 0.43 0.81 0.96 0.90 0.74 0.95 0.99
SSR 0.000 0.001 0.001 0.006 0.000 0.000 0.002 0.002 0.000 0.001 0.001 0.000 0.000
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D(trend(Yt))=a+b*D(trend(NRt))+c*D(trend(NPt))+d*D(trend(HRt))+e*D(trend(HPt))+F*D(trend(Yt-1))+Ut

|
gl

GDP 100.0; 1. 0.2 26.6 7.8 3.5 16.4 7.9 3.7 8.7 23.4
100.0] 6.3 0.1 20.3 11.8 0.7 17.5 3.1 1.6 7.0 31.6
a 0.00 0.03 0.02 -0.02 0.01 0.01 0.01 0.00 -0.00 -0.00
t 25.63 3.60 79.04 -40.09 62.64 1.93 92.63 7.43 -0.33 -1.87
b 1.71 -8.17 1.83 -3.43 -0.36 3.37 -1.05 -1.29 -0.11 0.75
t 45.98 =872 62.06 -45.26 -15.06 15.37 =50.72 -43.60 -7.45 3.45
c 0.48 -0.66 0.09 -1.79 -0.29 1.77 -0.53 -0.34 0.18 0.28
t 18.84 -21.82 6.82 -10.17 =29.79 3.02 | -119.17 =19.99 51.45 4.02
d 1.24 41.56 1.20 -11.06 1.09 19.68 -1.79 -0.17 -2.14 -3.29
t 22.26 13.31 2.60 -22.68 11.54 12.17 -19.67 -6.33 -54.87 -13.52
e -0.16 5.86 1.77 1.63 -0.26 -9.45 -0.09 0.38 0.21 -0.18
t -6.02 18.14 4.11 9.83 -20.72 521808 -6.36 13.78 21.46 -3.13
Adjusted R 0.34 0.97 1.00 1.00 1.00 1.00 1.00 1.00 1.00 0.95
SSR 0.004 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.002 0.001
GDP 2.59 0.20 0.67 2.33 1.39 0.83 1.59 1.12 2.03 6.82 3.01 0.34 3.63
2.62 0.52 0.52 0.72 0.06 0.77 0.79 1.75 2.36 3.14 1.93 0.37 4.72
a 0.01 -0.01 0.01 0.00 -0.01 -0.00 0.05 0.17 0.00 0.05 -0.02 -0.01 -0.00
t 81.81 -27.00 67.55 16.25 -14.21 =705 48.44 18.54 16.70 47.31 20809 -14.11 -0.58
b 2.39 0.23 1.79 -0.31 -0.67 -0.13 5.63 35.23 1.26 6.61 -6.85 -0.03 0.30
t 96.99 9.04 46.39 -13.66 -12.58 =3.59 50.78 19.00 45.39 25.25 =56017 -0.65 0.85
c -0.15 0.05 0.46 0.13 -0.20 -0.25 -0.38 -10.78 0.78 -0.53 0.46 0.33 0.21
t -18.67 17.40 52.06 18.42 =31.97 =17.78 -58.96 =15.21 54.67 -16.26 35.21 46.32 1.33
d 6.67 1.29 0.27 2.94 -4.20 4.93 -3.72 -27.17 2.22 -12.18 7.60 2.50 -0.85
t 102.28 32.32 2.65 20.41 -33.78 42.59 -19.98 -11.57 62.76 -11.08 36.65 49.22 -1.44
e -1.67 -0.39 0.05 -0.79 -0.18 -1.43 2.63 36.00 0.06 9.20 -4.90 -2.72 0.25
t -47.76 -6.64 1.24 -39.00 -14.56 -25.02 42.38 14.07 2 12.44 -94.80 -36.02 0.29
Adjusted R 1.00 0.94 0.99 0.98 0.97 1.00 1.00 0.89 1.00 0.99 1.00 1.00 0.84
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
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